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“ompare the values of each of the digits.
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Examining Digit Place Values
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The 2 in the hundreds place is ,m the value of the 2 in the ten thousands place.

584,537.4
The 4 in the thousands place is

72.62
The 2 in the ones place is

4,345,538.74
The 3 in the tens place is

53.31

The 3 in the ones place is

99.3

The 9 in the ones place is

6,289,485.9
The 8 in the tens place is

5.338.8
The 3 in the tens place is

11,251.354
The 5 in the tens place is

552,466.712
The 2 in the thousands place is

2,493,889.55

The 5 in the tenths place is

1,954,797.914

The 7 in the ones place is

5,831,884.5

The 5 in the millions place is

0n0 0O Yimes

the value of the 4 in the tenths place.
O +we 9
the value of the 2 in the hundredths place.
the value of the 3 in the hundred thousands place.
the value of the 3 in the tenths place.
the value of the 9 in the tens place.
the value of the 8 in the ten thousands place.
the value of the 3 in the hundreds place.
the value of the 5 in the hundredths place.
the value of the 2 in the thousandths place.

the value of the 5 in the hundredths place.

the value of the 7 in the hundreds place.

the value of the 5 in the tenths place.
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Multiplying and Dividing Powers of 'l'en
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7) 957.95+ 10" 8) 956.72 x 10!
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9) 2.716 = 10" 10) 1.3 x 103 11.

12.
(1) 24.6+10° 12) 35.29 x 10*

13.
3) 8.5+102 14) 875.5 x 102 14.

15.
[5) 84.1+ 102 16) 49.6 x 102
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17.
[7) 7.4-+10° 18) 521.9 x10°

18.
[9) 915316+ 102 20) 5.7 x 10* o

20.
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B — Rounding Decimals Name: N

Round each number to the correct place value. Cj) ANSWers
1) Round to the nearest tenth. 855.788 i 5- 5 7 L
— -
2) Round to the nearest tenth. 6.429 é P L{ 2.
3) Round to the nearest hundredth. S . l 7 3.
4) Round to the nearest tenth. @ 7 G 77 ‘6 4.
5) Round to the nearest whole number. 146.8 5.
6) Round to the nearest hundredth. 98.949 6.
7) Round to the nearest whole number. 9.88 7.
8) Round to the nearest tenth. 33.25 8.
9) Round to the nearest tenth. 16.118 9
L0) Round to the nearest hundredth. 3.827 10.
11) Round to the nearest whole number. 90.1 11
12) Round to the nearest hundredth. 481.772 12.
L3) Round to the nearest whole number. 71.7 13.
14) Round to the nearest tenth. 6.36 14.
LS) Round to the nearest hundredth. 534212 15
16) Round to the nearest whole number. 2.4 16.
L7) Round to the nearest whole number. 71.64 17.
L8) Round to the nearest whole number. 45.9 18
19) Round to the nearest hundredth. 98.244 19.
20) Round to the nearest tenth. 6.49 20.
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i Addmg and Subtracting Decimals IName: ( % >

solve each problem.

1

2)

3)

4

S)
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7

8)

9)

10)

A scientist was measuring the daily sodium values of different foods. If a soda has 42.59%
the daily value and fries have 45.2% the daily value, how much would they have together?

Bianca downloaded two apps which were 13.7 kb total. If one app was 3.1 kb, how big was
the other app?

During a science experiment, Mary found the mass of two rocks to be 36.16 grams and
56.2 grams. What is the total mass of these two rocks?

A computer programmer had two files. The first was 35.77 gigabyes and the second was
44.8 gigabytes. What is the total file size of both?

A botanist was measuring how tall her plant grew. After two weeks it had grown 12.36
inches. The second week alone it had grown 2.96 inches! How much did it grow the first
week?

Kaleb was training for a marathon. On his first day he ran 2.3 kilometers. On the second
day he ran 2.2 kilometers. How far did he run altogether?

A weatherman was measuring the amount of rain two cities received over a week. City A
received 9.12 inches while City B received 6.9 inches. How much rain did they get total?

Tom weighed the candy he and his brother got from Halloween. Together they received
16.16 kgs of candy. If Tom's amount was 5.66 kg how much was his brothers?

Will bought 6.58 lbs of cherry and lime jelly beans for his birthday party. If 3.78 1bs were
cherry flavor, how many pounds were lime flavor?

Adam and Vanessa were running a relay race. The race was 21.52 kilometers total. If
Adam ran 14.72 kilometers how far did Vanessa run?

Answers
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